T B A2 e 24 34 A 2= | Aolsin)

A1 (cos)| EFHIE (tam)

oro 31° 0.51 0.86 0.60

LlC 39° 0.52 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0.77 0.84
41 0.66 0.75 0.87
42° 0.67 0.74 0.90
43 0.68 0.73 0.93
44° 0.69 0.72 0.97

@ sin32°=0.53
® tan36°=0.73

@ 3cosd4°=2.1

© cos34°=0.83

@ 2sin42°=1.34
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0]?—(]-%]'7%]/;} 322 + ax — § =0 9,]
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o 9 3He Fetoter,

(ehzidlel )

x sin z cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1.0355
47° | 0.7314 0.6821 1.0724




sinA = 0.6 ¥ o, cosA +tan A ©] & FoFH? (HF, 0°< A <90°)

9 31
® 0.5 @ 0.6 ® 0.7 @ 0 ® 2



4
sin A = B A off, tan A — cos A 9] FF2? (H, 0°< A <90°)
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7. og B olgsl
(tan44° + cos 46 ° — 2sin 45°) x 10000 9] 4f-= Fotof=t,

@ 246

2t sin cos tan
44° 0,6947 | 0,7193 0.9657
45° 0.,7071 0.,7071 1,0000
46° 0.7193 0.6947 1.0355
@ 967 ® 1760 @ 2462
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@ 6(v/3-1)
® 8(v/3-1)

® 10(v3-1)



@) cosT = ==, z=60°
@) COS$:§7 x=30°
® cosx:§7 x=45°
@ cosx:%, r =060°

® cosz = \/?7,’ x = 30°

=Y



10.

O ™A tanz O] #3 2 & F-5keiet,

YA

=Y



11. AABC oA A 7F A2 o, 2cos? A —5cosA +2 =02 WH=ZT o A
o] Zt& F3kaL, 4tan® A — /3tan A 4 8 9] ZH& 747+ £5loet,



12.

t}S oA ZABC = /BCD = 90°, /BAC = 60° , /ZBDC = 45°,
AB=v34 0,
BD? 9] gro9




13. sin(2z +30°) = cos(3y — 45°) € W, 42 — y ] S FoHH?

@ o° @ ?C’ @ 18° @ 30° ® 45°



